PellieHWe NpoCTenLLMX
TPUTOHOMETPUYECKUX YpaBHEHUIA

Llenb: npnMeHeHune
MYSIbTUMEANNHOIO Y4eOHOro
nocobus npu peleHum
NPOCTEULLNX TPUTOHOMETPUYECKUX
YPaBHEHNU



TpUroHoMeTpuyeckmm ypaBHeHUeM
Ha3blBaeTCH

paBEeHCTBO, coaepKallee HEN3BECTHbIN,
KOTOPbIA ABNAETCA apryMmeHToOM
TPUTOHOMETPUYECKOUN PYHKL NN

= c?st=a A=<a=<1
= Sint=a
-tgt=a

. ctgt=a @-Moloeuncno



cos t=a
t =+ arccosa +2nk, kKEZ

YacCTHble cny4vau: [lpnmep:
cos X = 0; cos X = V2;
X=n/2+nk k€Z X==xn/3+2nk, kKEZ
cos X = 1; cos 5x = 5;
X=2nk kK€Z DELLEHNN HET
cos X = -1;

X=n+2nk K€Z



sihn t=a
t=(-1)"arcsina+nn,n€Z

YacTHble cny4yau: [1pumep:
sin X = 0; sin x =v2/ 2;
X=nn ne€Zz x=(-1)"n/4+nn n€”Z
sinx =1; sin 5X =m;

X =n/2+2nn, n €7 DELLEHNN HET
sin X = -1;
X=-n/2+2nn, n€”Z



tg t=a
t=arctga +nk kK€Z

[1Ipumep:
tg x =1;
X=n/4+nk KEZ
tg x =-7;

X=arctg(-7) +nn, n€Z
X=-arctg/7 +nn, n€”Z



Kputepmmn oLeHKu

«5» -9, 10 %
«4»-7,8 Siil, COS - 10 3aRaHUN
«3» - 6

«5» -7, 8 «
«4» - 6 tg P 8 38"0“““
«3» -5



